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@ 30 = 6 = 5

@ 31 = 6 = 5 HFEOH 1
@ 32 = 6 = 5 HFEOH 2
@ 33 = 6 = 5 HFEOH 3
® 34 = 6 = 5 HFEOH 4
® 35 = 6 = 5 HFEOH 5
@ 36 = 6 = 6

® 37 = 6 = 6 »HFEOH 1
© 38 - 6 = 6 HFH 2

6 = 6 HFEOL 3
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ELMH (3 X 3 + 2 = 11 )
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@ 43 = 5 = 8 HFEH 3
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3 + 1 = 4 ( 4 #HE )

Q@ HNSALHBIINATERREICTEET, VSADAHIEIT1 OAT, N\
ADWNTIE2 ADNTFTT, WIIHAFBEDTLL DD,
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NdTL&DN, FEMABEDFTIN,
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16 - 7 = 2 HFEOH 2
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SHE FHEFIVvITIE No.1 O (10,710)
HFDDHINDE 0 - =1 I
$HIBT NBNBBHDDEDRIBEN TED,

@D 23CTOEFCESVNDDINYDICANTT, Nv DN DTEDS
TUL&EOD, T EEIBMTHFEDEIH,
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@ 2 5 - 7 = 3 »HIFOH 4
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@ 2 7 = 4 = 6 bHFEH 3
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